HPE_CIEO2 cone sensitivityYgy,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

By 10,3897 0,6889 -0,0788=570
10 P60:5T 0y {A)=98,49
X02,5:0’3217
78 Yo2.6-0,3315
X0 o
2,5

0,0

400 500 600
wavelengthA /nm

BE410-4A 1



HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

By 0,3897 0,6889 -0,0788=570

10 P55:5T 0 dA)=99,32
X02,£0,3321

7.9 Yo2.£0,3407

[SN©, s

2,5

0,0

400 500 600
wavelengthA /nm

BE410-4A 1



HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

By 0,3897 0,6889 -0,0788=570

10 P50:5T 0 dA)=100,33
X02,£0,3447

7.9 Y02.£0,3513

[SN©, o

2,5

0,0

400 500 600
wavelengthA /nm

BE410-4A 1



HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

Blj
10

7,9

50 -~~~ -

2,9

0,0

0,3897 0,6889 -0,07846=570
P45:5T 05 d\)=101,57
X02,6°0,3603
YO2,5:0’3632

500 600
wavelengthA /nm

BE410-4A 1




HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

Bjj 03897 0,6889 -0,0788=570
10 P40:5T oy A)=103,14
X02,6°0,3799
7,9 YO2,5:0’3764
50~~~ """~~~ ~" - -~~~ ~-~-=----
2,9

0,0

400 500 600
wavelengthA /nm

BE410-4A 1



HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

By 10,3897 0,6889 -0,0788=570
10 P35:5T g dA)=105,17
X02,50,4047
7,9 YO2,5:0’3904
50~~~ """~~~ "=y~ """~~~ -
2,9

0,0

400 500 600
wavelengthA /nm

BE410-4A 1



HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

10

7,9

5,01

2,9

0,0

400

By 10,3897 0,6889 -0,0788=570
P30:5T 0 dA)=107,89
X02,6°0,4363
YO2,5:0’4038

500 600
wavelengthA /nm

BE410-4A 1




HPE_CIEO2 cone sensitivityYg,,=100
I'02,{N)=B11X02 {A)+B12Y02 {A)+B13Z02 )

10

7,9

5,01

2,9

0,0

400

By 10,3897 0,6889 -0,0788=570
P25:5T 05 dA)=111,69
X02,50,4763
YO2,5:0’4135

500 600
wavelengthA /nm

BE410-4A 1




